
 

 

Ultrabeam Truss Kit for Elements 

(not for boom) 

WiMo Antennen und Elektronik GmbH 
Am Gäxwald 14,  D-76863 Herxheim  Tel. (07276) 96680   FAX 9668-11  

http://www.wimo.com                     e-mail: info@wimo.com 

 

TRUSS KIT  PARTS  LIST FOR ONE ELEMENT  

This list is ONLY for optional purchase kit for 2 ele 6-40m or UB50. 
 

 p/n 12210.2.TKIT, truss kit for 2 ele 6-40, consists of TWO sets as shown below 

 p/n 12215.TKIT,    truss kit for UB-50, consists of THREE sets as shown below 
 

     
 

       
 
 
1 x alu standoff  500 x 35 x 35 mm thickness  3mm 
2 x screws M6x90 + washers + self-locking nuts 
1 x bracket  + 3 pcs screws M6 x 50mm 
2 Sets TIR-L50  + 8 pcs. inbus screws M4 x 40 mm 
2 ea. O-ring 0796, O-ring 0780  
2 x duplex clamp 3 mm 
7m Mastrant rope 3mm   
 


